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(a) Use the identity

Rsi cosBsinA + RsinB cos A Q) ’é‘iw\e +;(€T\e = Reos xeanb + Rsin ﬁ@e
to show that Cmm mq}fz,am of 6inQ and 6.
3sin + 4cos6 :
3= Reos X L= Rsinee
can be written as

5sin (84 @) where @ = tan~

o nx =

3
w=tan (%)

(b) Hence, or otherwise, solve the equation 3sin6 + 4 cosf =1 for 0< 6 <.

1 %
Give your answers to three significant figures. E‘ 3
3] 5

M-yt =25
R=S

() Write down the maximum value of 3sing + 4 cos 8 and state the first positive
value of 6 for which it occurs. Give your value of 6 to three significant figures.
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- 36in@ + 4os® = Gisin (6+%)
whne X = W‘"(§)
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() Use the identity
Rsin(A+ B) = Rcos BsinA + Rsin B cos A
to show that
3sinf +4cos6

can be written as

5sin (8 + @) where @ = tan~ (%

=092%. ..

(b) Hence, or otherwise, solve the equation 3sin6 + 4 cosf =1 for 0< 6 <.
Give your answers to three significant figures.

() Write down the maximum value of 3sing + 4 cos 8 and state the first positive
value of 6 for which it occurs. Give your value of 6 to three significant figures.

b)

Gsin (6+%) =1
i@+ =g

¢
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(a) Use the identity

Rsin(A+ B) = Rcos BsinA + Rsin B cos A

) Max of Fsin Ox) secuss sin(G+%) =)
to show that M I N 5
3sinf + 4 cos 6

can be written as

sin"(1)- 6+x = g
5sin (8 + @) where @ = tan~ (%

3)= 0923, ..
Je §-1-092% ..

(3sf)

4

(b) Hence, or otherwise, solve the equation 3sin6 + 4 cosf =1 for 0< 6 <.
Give your answers to three significant figures.

31

Fsavemyexams

() Write down the maximum value of 3sing + 4 cos 8 and state the first positive
value of 6 for which it occurs. Give your value of 6 to three significant figures.
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(2) Show that the equation 3tanx = 18 — 2secx can be written as

3sec?x + 2secx —21 =0

2]
(b) Hence, or otherwise, solve the equation
3tan’x = 18— 2secx, —m<x<Tm
Give your answers to three significant figures.
4]
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18 -Lsecx

1

a) 3(secxc~1)

3sectx -3 = Ig-2secxX

3sedx + 2secx - 2 =0

gec’® =1+ tan’0




image10.png
(2) Show that the equation 3tanx = 18 — 2secx can be written as

3sec’x +2secx —21=0 b) ('Bsax - })(SKI+%) -O
A quabs
Fodor(se Wik Lquaton 2] secx = 1 fecx =—3
3
(b) Herice, or otherwise, solve the equation S B \
.= osx =S
3tanx=18-2secx, —m<x<n wsx 3 3

Give your answers to three significant figures.
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Solve the equation
<@ - s
0520 =cosf — 1 —m<6<m 1@526 ‘/l/: c_cseyf mi@:{plswe
2004’0 - |
2008?60 -ces6=Q

State your answers as multiples of 7.

(5]

u::se(lcose~ 1)=0

ws@=0 38 =4
05 i)
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(a) Write down the domain and range for the function

f(x) = arcsinx

(b) Solve the equation

[P =25

awrcsinge (s\WliV\VEISQOf' “l’\
(asa ‘-l f“"‘k“’(\) ok
2 raflechion o g in
Une y=x

ine donncin and CUge
d?s\‘n.‘

12]

o)< sinx <)

‘ wq_Pvuw\A
F(l)z arcsinx domeun & range
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(a) Write down the domain and range for the function

(x) = arcsinx

(b) Solve the equation

[P =2

sqoure vack bt sidss

Y

H

e

3

—— »x
3 ‘

V__|-x

g

f) = aresinx 1%

12
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() Use a small angle approximation to estimate the solution to the equation
cosec = 10 D _1L_-1p for smalll €,
) S GO XE
|

(b) Solve the equation cosec =10 0<6 <.

~ 10
Give your answer to six decimal places.

i

[21

(<) Find the percentage error, to two significant figures, in the approximation from
part (a) compared to your answer in part (b)
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(@) Use a small angle approximation to estimate the solution to the equation
cosec = 10 b) Fowt. (ll) sing=0)
e g- sin(01)= 0.100167
10 0<f<i

Give your answer to six decimal places.

(b) Solve the equation cosec

g = 0100167 (ody)

[21

(<) Find the percentage error, to two significant figures, in the approximation from
part (a) compared to your answer in part (b).

121

Fsavemyexams




image16.png
(a) Use a small angle approximation to estimate the solution to the equation
cosec = 10

. Q) 7 error onoms?—oﬂx
2 0.

p 100
o 0.10016%

(b) Solve the equation cosec =10 0<6 <.

Give your answer to six decimal places.

(2sF)

9-0.10016% 2

(<) Find the percentage error, to two significant figures, in the approximation from
part (a) compared to your answer in part (b)
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(a) Sketch the graph of y = cot?# for —2r < # < 2.
g
9% e
(b) By adding three lines to your graph demonstrate how the equation

cot?f=k —2m<6<2m

where k is a constant has either 0, 4 or 8 real solutions.
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(a) Sketch the graph of y = cot?# for —2r < # < 2.
3]
(b) By adding three lines to your graph demonstrate how the equation
cot?f=k —2m<@<om

where k is a constant has either 0, 4 or 8 real solutions.

Selubons oo uhare e ine =k intersects @
e curve y‘cﬂbxﬁ (peom (@),
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Solve the equation

cot?f =sec?f —1,  0°<6 <360°

{
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Solve the equation cosec 26 = 2 for 0° < 8 < 180°.
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Given that Vot 4> - 3A°-30°

an@a 30 = -2

3

find the values of 4 such that —120° < 4° < 1207,

+

_390< p< 3307
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-1&80

= -390, '1'07 -3¢, 150 "/

A= -126, -60) & 60} 120°
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Solve the equation

sinx 1

Secx 4

—r<xsw

[41
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() On the same axes, sketch the graphs of y = arcsinx and y = arccos x, where x is
measured in radians.
“ y

Label any points where the graphs intersect the coordinate axes and each other. \ﬁ— ™
= QIEERX (7, I
“ N S
(b) Hence, or otherwise find the only solution to cos(arcsinx) = x.
T =2
2] @ 2 v
| stnoe
, .
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() On the same axes, sketch the graphs of y = arcsinx and y = arccos x, where x is

‘measured in radians.

Label any points where the graphs intersect the coordinate axes and each other.

(b) Hence, or otherwise find the only solution to cos(arcsin x) = x.
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